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Exercise 1: What is the output produced by the following program? (Note: use the ~ symbol to represent
each space)

print ("This", "is")
print ("a program that has")
print (3, "lines")

print
print
print
print

1,2,3,4)
n1,2’3,4n)
"1234", 1,2)
ulu’2’3,u4n)

This is

a program that has
3 lines

1234

1,2,3,4

123412

1234

Exercise 2: What is the output produced the following program?

print(l1 + 2 + 3)
print ("1" + "2" + "3")
print (1 * 2)

(

print ("1" * 2)

print (3 / 2)
print (1.0 + 3 / 2)
print (1 + 3 // 2)

print (2 % 3
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Exercise 3: What is the output produced the following program?

Exercise 4: Write a program that converts a temperature from Fahrenheit to Celsius. The formula to convert
from Fahrenheit to Celsius is:

Celsius = § x (Fahrenheit — 32)

fahrenheit = int(input("Enter a temp in F. "))
celsius = (5/9)*(fahrenheit-32)
print("There are", celsius, "C in", fahrenheit, "F.")
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fahrenheit = int(input("Enter a temp in F: "))
celsius = (5/9)*(fahrenheit-32)
print("There are", celsius, "C in", fahrenheit, "F.")




